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RIER b AR X EGEH =

BR3—2 BEVIERAIIEEESNAIERICEIREE /D . ) | mEEE | FRSEE
StEfouE | EmES 13981049 | B4 \ FEE—TH-2 | FrfEh | EEHTEE—TH
SERMO TinICHEET S ZER A
*;Eg TREOBBOEILNDOKRES ITREOHBEEILNOKRES TREOBEOEILADKRES ITWEOHBSEILADKRES
R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00{ 0.00 ~ 3.62 158.54|3m%x# %% 0.00 ~ 2.14 3.97 21.22| 100kN/m#%#8% % 1.00{ 10.57 ~ 56.00 158.54| 3m%*x# % %| 30.00 ~ 56.00| 3.97 21.22
s 1.00{3.62 ~ 11.40 100.00f Zhlst | 2.14 ~ 11.40] 3.00 16.05 s 1.00f 5.00 ~ 10.57 100.00f Z=hl4t+ | 5.00 ~ 30.00f 3.00 16.05
9 100kN/m##8 %% 1.00{ 0.00 ~ 3.68 159.62|3m%x# %% 0.00 ~ 2.18 3.99 21.36| 100kN/m#%#8% % 1.00{ 10.54 ~ 56.00 159.62| 3m%*x#8% 5| 25.00 ~ 56.00| 3.99 21.36
s 1.00] 3.68 ~ 11.46 100.00f Zhlst | 2.18 ~ 11.46] 3.00 16.05 s 1.00f 5.00 ~ 10.54 100.00f Zhl4t+ | 5.00 ~ 25.00( 3.00 16.05
3 100kN/m##8 %% 1.00{ 0.00 ~ 3.77 161.29|3m%#% %] 0.00 ~ 2.25| 4.04 21.64| 100kN/m%#8% % 1.00{ 10.53 ~ 53.93 161.29| 3m%x#8% 5| 25.00 ~ 53.93| 4.04 21.64
s 1.00] 3.77 ~ 11.56 100.00f Z=hlst | 2.25 ~ 11.56| 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
6 100kN/m##8 %% 1.00{ 0.00 ~ 3.88 163.34|3m%#%%| 0.00 ~ 2.34| 4.11 22.02| 100kN/m#%#8% % 1.00{ 10.56 ~ 54.02 163.34| 3m%# % 5| 25.00 ~ 54.02 4.11 22.02
s 1.00| 3.88 ~ 11.67 100.00f Zhlst |2.34 ~ 11.67| 3.00 16.05 s 1.00f 5.00 ~ 10.56 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
7 100kN/m##8 %% 1.00{ 0.00 ~ 3.89 163.35|3m%x# %% 0.00 ~ 235 4.12 22.08| 100kN/m#%#8% % 1.00{ 10.57 ~ 52.40 163.35| 3m%x#8% 5| 25.00 ~ 52.40| 4.12 22.08
s 1.00{ 3.89 ~ 11.67 100.00f Zhl4t | 2.35 ~ 11.67| 3.00 16.05 s 1.00f 5.00 ~ 10.57 100.00f Zhl4t+ | 5.00 ~ 25.00( 3.00 16.05
5 100kN/m##8 %% 1.00{ 0.00 ~ 4.02 165.79| 3m%x# %% 0.00 ~ 2.50( 4.25 22.72| 100kN/m#%#8% % 1.00{ 10.76 ~ 56.00 165.79| 3m%x#8% 5| 25.00 ~ 56.00| 4.25 22.72
s 1.00{4.02 ~ 11.80 100.00f Z=hkl4t+ | 250 ~ 11.80| 3.00 16.05 st 1.00f 5.00 ~ 10.76 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
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